
01 3,69 4,07 2,43 5,10 X ( 5,10  - 1,41 ) X ( 5,10  - 1,03 ) X ( 5,10  - 2,67 )  = 19,554 √ 4,422

02 0,37 2,31 2,43 2,56 X ( 2,56  - 2,19 ) X ( 2,56  - 0,25 ) X ( 2,56  - 0,13 )  = 0,171 √ 0,413

03 3,40 4,07 2,73 5,10 X ( 5,10  - 1,70 ) X ( 5,10  - 1,03 ) X ( 5,10  - 2,37 )  = 21,164 √ 4,600

04 3,40 3,36 0,43 3,60 X ( 3,60  - 0,20 ) X ( 3,60  - 0,24 ) X ( 3,60  - 3,17 )  = 0,521 √ 0,722

05 3,54 1,90 4,02 4,73 X ( 4,73  - 1,19 ) X ( 4,73  - 2,83 ) X ( 4,73  - 0,71 )  = 11,310 √ 3,363

06 7,41 6,52 4,02 8,98 X ( 8,98  - 1,57 ) X ( 8,98  - 2,46 ) X ( 8,98  - 4,96 )  = 170,861 √ 13,071

07 6,91 6,52 11,75 12,59 X ( 12,59  - 5,68 ) X ( 12,59  - 6,07 ) X ( 12,59  - 0,84 )  = 364,621 √ 19,095

08 10,42 18,97 11,75 20,57 X ( 20,57  - 10,15 ) X ( 20,57  - 1,60 ) X ( 20,57  - 8,82 )  = 2.946,381 √ 54,281

09 20,06 18,97 1,31 20,17 X ( 20,17  - 0,11 ) X ( 20,17  - 1,20 ) X ( 20,17  - 18,86 )  = 50,214 √ 7,086

10 20,06 18,95 10,38 24,70 X ( 24,70  - 4,64 ) X ( 24,70  - 5,75 ) X ( 24,70  - 14,32 )  = 9.413,262 √ 97,022

11 10,42 10,06 0,45 10,47 X ( 10,47  - 0,04 ) X ( 10,47  - 0,40 ) X ( 10,47  - 10,02 )  = 1,910 √ 1,382

12 10,81 10,06 14,72 17,80 X ( 17,80  - 6,99 ) X ( 17,80  - 7,74 ) X ( 17,80  - 3,08 )  = 2.956,445 √ 54,373

13 9,96 10,41 14,72 17,55 X ( 17,55  - 7,59 ) X ( 17,55  - 7,14 ) X ( 17,55  - 2,83 )  = 2.682,387 √ 51,792

14 4,43 8,88 10,06 11,69 X ( 11,69  - 7,26 ) X ( 11,69  - 2,81 ) X ( 11,69  - 1,63 )  = 386,414 √ 19,657

15 10,06 3,52 7,26 10,42 X ( 10,42  - 0,36 ) X ( 10,42  - 6,90 ) X ( 10,42  - 3,16 )  = 81,791 √ 9,044

16 0,62 7,67 7,26 7,78 X ( 7,78  - 7,16 ) X ( 7,78  - 0,11 ) X ( 7,78  - 0,52 )  = 3,008 √ 1,734

17 7,67 5,40 5,15 9,11 X ( 9,11  - 1,44 ) X ( 9,11  - 3,71 ) X ( 9,11  - 3,96 )  = 192,730 √ 13,883

18 2,82 3,52 0,71 3,53 X ( 3,53  - 0,71 ) X ( 3,53  - 0,00 ) X ( 3,53  - 2,82 )  = 0,035 √ 0,187

19 13,43 13,68 2,82 14,97 X ( 14,97  - 1,54 ) X ( 14,97  - 1,29 ) X ( 14,97  - 12,15 )  = 358,497 √ 18,934

20 13,68 27,49 26,50 33,84 X ( 33,84  - 20,16 ) X ( 33,84  - 6,35 ) X ( 33,84  - 7,34 )  = 31.738,086 √ 178,152

21 27,49 27,09 0,77 27,68 X ( 27,68  - 0,19 ) X ( 27,68  - 0,59 ) X ( 27,68  - 26,91 )  = 80,584 √ 8,977

22 27,09 23,08 13,64 31,91 X ( 31,91  - 4,82 ) X ( 31,91  - 8,83 ) X ( 31,91  - 18,27 )  = 24.762,212 √ 157,360

23 7,46 13,33 15,37 18,08 X ( 18,08  - 10,62 ) X ( 18,08  - 4,75 ) X ( 18,08  - 2,71 )  = 2.471,644 √ 49,716

24 7,61 13,43 15,37 18,21 X ( 18,21  - 10,60 ) X ( 18,21  - 4,78 ) X ( 18,21  - 2,84 )  = 2.611,067 √ 51,099

25 0,31 4,03 4,05 4,20 X ( 4,20  - 3,89 ) X ( 4,20  - 0,17 ) X ( 4,20  - 0,15 )  = 0,390 √ 0,624

26 2,96 4,83 4,05 5,92 X ( 5,92  - 2,96 ) X ( 5,92  - 1,09 ) X ( 5,92  - 1,87 )  = 35,718 √ 5,976

27 0,33 16,32 16,31 16,48 X ( 16,48  - 16,15 ) X ( 16,48  - 0,16 ) X ( 16,48  - 0,17 )  = 7,239 √ 2,691

28 16,32 4,83 14,33 17,74 X ( 17,74  - 1,42 ) X ( 17,74  - 12,91 ) X ( 17,74  - 3,41 )  = 1.108,977 √ 33,301

29 0,40 11,26 11,27 11,47 X ( 11,47  - 11,07 ) X ( 11,47  - 0,21 ) X ( 11,47  - 0,20 )  = 5,071 √ 2,252

30 11,26 14,33 4,92 15,26 X ( 15,26  - 4,00 ) X ( 15,26  - 0,92 ) X ( 15,26  - 10,34 )  = 582,614 √ 24,137

31 11,26 11,27 0,42 11,48 X ( 11,48  - 0,22 ) X ( 11,48  - 0,21 ) X ( 11,48  - 11,06 )  = 5,591 √ 2,365

32 4,29 4,92 2,54 5,88 X ( 5,88  - 1,59 ) X ( 5,88  - 0,96 ) X ( 5,88  - 3,34 )  = 29,658 √ 5,446

33 13,97 8,58 16,43 19,49 X ( 19,49  - 5,52 ) X ( 19,49  - 10,91 ) X ( 19,49  - 3,06 )  = 3.591,676 √ 59,931

34 18,10 3,27 16,43 18,90 X ( 18,90  - 0,80 ) X ( 18,90  - 15,63 ) X ( 18,90  - 2,47 )  = 583,724 √ 24,160

35 18,10 5,15 14,41 18,83 X ( 18,83  - 0,73 ) X ( 18,83  - 13,68 ) X ( 18,83  - 4,42 )  = 831,154 √ 28,830

36 16,13 2,15 14,41 16,35 X ( 16,35  - 0,22 ) X ( 16,35  - 14,20 ) X ( 16,35  - 1,94 )  = 96,525 √ 9,825

37 4,79 10,36 10,77 12,96 X ( 12,96  - 8,17 ) X ( 12,96  - 2,60 ) X ( 12,96  - 2,19 )  = 602,899 √ 24,554

38 10,33 4,62 10,77 12,86 X ( 12,86  - 2,53 ) X ( 12,86  - 8,24 ) X ( 12,86  - 2,09 )  = 560,319 √ 23,671

39 10,33 27,64 17,66 27,82 X ( 27,82  - 17,49 ) X ( 27,82  - 0,17 ) X ( 27,82  - 10,16 )  = 864,296 √ 29,399

40 16,13 27,64 39,42 41,60 X ( 41,60  - 25,47 ) X ( 41,60  - 13,96 ) X ( 41,60  - 2,18 )  = 32.149,477 √ 179,303

41 17,66 11,97 8,71 19,17 X ( 19,17  - 1,51 ) X ( 19,17  - 7,20 ) X ( 19,17  - 10,46 )  = 2.180,034 √ 46,691

42 5,73 4,40 8,71 9,42 X ( 9,42  - 3,69 ) X ( 9,42  - 5,02 ) X ( 9,42  - 0,71 )  = 123,891 √ 11,131

43 5,73 5,07 5,63 8,22 X ( 8,22  - 2,49 ) X ( 8,22  - 3,15 ) X ( 8,22  - 2,59 )  = 165,964 √ 12,883

44 3,38 4,47 5,63 6,74 X ( 6,74  - 3,36 ) X ( 6,74  - 2,27 ) X ( 6,74  - 1,11 )  = 57,062 √ 7,554

45 8,91 14,34 13,09 18,17 X ( 18,17  - 9,26 ) X ( 18,17  - 3,83 ) X ( 18,17  - 5,08 )  = 3.273,621 √ 57,216

46 1,54 11,61 13,09 13,12 X ( 13,12  - 11,58 ) X ( 13,12  - 1,51 ) X ( 13,12  - 0,03 )  = 6,882 √ 2,623

47 2,38 11,61 9,61 11,80 X ( 11,80  - 9,42 ) X ( 11,80  - 0,19 ) X ( 11,80  - 2,19 )  = 46,252 √ 6,801

48 9,61 2,29 8,61 10,26 X ( 10,26  - 0,65 ) X ( 10,26  - 7,97 ) X ( 10,26  - 1,65 )  = 86,666 √ 9,309

49 8,93 2,29 8,61 9,92 X ( 9,92  - 0,98 ) X ( 9,92  - 7,63 ) X ( 9,92  - 1,31 )  = 97,181 √ 9,858

50 8,93 2,29 10,43 10,83 X ( 10,83  - 1,90 ) X ( 10,83  - 8,54 ) X ( 10,83  - 0,40 )  = 69,157 √ 8,316

51 6,20 10,92 10,43 13,78 X ( 13,78  - 7,58 ) X ( 13,78  - 2,86 ) X ( 13,78  - 3,35 )  = 996,498 √ 31,567

52 6,20 2,29 5,76 7,13 X ( 7,13  - 0,93 ) X ( 7,13  - 4,84 ) X ( 7,13  - 1,37 )  = 43,497 √ 6,595

53 4,83 15,85 15,10 17,89 X ( 17,89  - 13,06 ) X ( 17,89  - 2,04 ) X ( 17,89  - 2,79 )  = 1.329,805 √ 36,466

54 3,58 15,85 19,24 19,34 X ( 19,34  - 15,76 ) X ( 19,34  - 3,49 ) X ( 19,34  - 0,10 )  = 100,853 √ 10,043

55 19,28 4,52 19,24 21,52 X ( 21,52  - 2,24 ) X ( 21,52  - 17,00 ) X ( 21,52  - 2,28 )  = 1.868,418 √ 43,225

01 10,41 9,96 14,72 17,55 X ( 17,55  - 7,14 ) X ( 17,55  - 7,59 ) X ( 17,55  - 2,83 )  = 2.682,387 √ 51,792

02 10,06 10,81 14,72 17,80 X ( 17,80  - 7,74 ) X ( 17,80  - 6,99 ) X ( 17,80  - 3,08 )  = 2.956,445 √ 54,373

03 10,06 6,34 8,48 12,44 X ( 12,44  - 2,38 ) X ( 12,44  - 6,10 ) X ( 12,44  - 3,96 )  = 715,192 √ 26,743

04 0,45 6,34 6,31 6,55 X ( 6,55  - 6,10 ) X ( 6,55  - 0,21 ) X ( 6,55  - 0,24 )  = 2,014 √ 1,419

05 10,73 8,48 6,31 12,76 X ( 12,76  - 2,03 ) X ( 12,76  - 4,28 ) X ( 12,76  - 6,45 )  = 715,073 √ 26,741

06 10,73 10,38 1,31 11,21 X ( 11,21  - 0,48 ) X ( 11,21  - 0,83 ) X ( 11,21  - 9,90 )  = 44,214 √ 6,649

07 8,48 13,29 18,95 20,36 X ( 20,36  - 11,88 ) X ( 20,36  - 7,07 ) X ( 20,36  - 1,41 )  = 2.411,197 √ 49,104

08 8,48 13,29 11,75 16,76 X ( 16,76  - 8,28 ) X ( 16,76  - 3,47 ) X ( 16,76  - 5,01 )  = 2.412,523 √ 49,117

09 10,62 7,41 11,75 14,89 X ( 14,89  - 4,27 ) X ( 14,89  - 7,48 ) X ( 14,89  - 3,14 )  = 1.493,323 √ 38,644

10 10,62 12,00 3,77 13,20 X ( 13,20  - 2,58 ) X ( 13,20  - 1,20 ) X ( 13,20  - 9,43 )  = 382,680 √ 19,562

11 10,93 12,00 8,52 15,73 X ( 15,73  - 4,80 ) X ( 15,73  - 3,73 ) X ( 15,73  - 7,21 )  = 2.023,669 √ 44,985

12 10,93 10,52 2,69 12,07 X ( 12,07  - 1,14 ) X ( 12,07  - 1,55 ) X ( 12,07  - 9,38 )  = 200,054 √ 14,144

13 2,31 0,37 2,43 2,56 X ( 2,56  - 0,25 ) X ( 2,56  - 2,19 ) X ( 2,56  - 0,13 )  = 0,171 √ 0,413

14 2,43 2,69 0,39 2,76 X ( 2,76  - 0,33 ) X ( 2,76  - 0,06 ) X ( 2,76  - 2,37 )  = 0,138 √ 0,371

01 6,01 6,61 2,85 7,74 X ( 7,74  - 1,73 ) X ( 7,74  - 1,13 ) X ( 7,74  - 4,89 )  = 73,327 √ 8,563

02 8,86 6,61 8,62 12,05 X ( 12,05  - 3,19 ) X ( 12,05  - 5,44 ) X ( 12,05  - 3,43 )  = 714,128 √ 26,723

03 5,73 6,10 8,62 10,23 X ( 10,23  - 4,50 ) X ( 10,23  - 4,13 ) X ( 10,23  - 1,61 )  = 304,293 √ 17,444


